
Time: 40 Minutes Paper G. Science 8th Total Marks: 25

5th Month, 3rd Week, 3rd Day Syllabus: Unit # 9:  Exercise 

Q.No.1 Encircle the correct answer from the following choices. (1×7=7)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
1. Through which of the following the light travels the fastest?

ZZZZyyyy~~~~ÐÐÐÐ¾¾¾¾~~~~ggggzzzzÝÝÝÝ!!!!^̂̂̂™™™™CCCCìììì????

(a) Air ƒZ (b) Vacuum Ü (c) Water 0*ã (d) Prism 6,ix
2. What is the colour of an object that absorbs all the light that hits it?

ZZZZkkkkŸŸŸŸ»»»»gggg8888----HHHHƒƒƒƒ@@@@****ìììì����7777,,,,ääääzzzzZZZZàààà‚‚‚‚gggg~~~~ggggzzzzÝÝÝÝ____....[[[[™™™™}}}}????

(a) Black »Ñ (b) Green ! (c) White C (d) Red uc
3. Which of the following type of mirror can form an image larger than

the object? ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚%%%%ggggŸŸŸŸÅÅÅÅÚÚÚÚ((((,,,,~~~~¦¦¦¦kkkk,,,,¯̄̄̄YYYYìììì????

(a) Concave
±5½3ð
E
G (b) Convex .o

(c) Plane ™ (d) All of these tÓx
4. Which of the following is true for an image in a plane mirror?

ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚ÒÒÒÒyyyy™™™™%%%%gggg~~~~¦¦¦¦kkkk,,,,ÆÆÆÆaaaaŠŠŠŠgggg„„„„ìììì????

(a) It is formed when light is blocked by an opaque object.

tk�ìZ#ãŸgzÝ_.[™}X

(b) It is formed when light passes throught a transparent object.

tk�ìZ#gzÝËsŸÐ¦/gCìX

(c) It is of the same shape, size and colour as the object.

ZkÅ̂Ô‚,̂Zzgg8-Ÿ6ƒ@*ìX

(d) It is always black. tå»àƒCìX

5. What happens when light hits a shiny or smooth surface?

ZZZZ####ggggzzzzÝÝÝÝ®®®®ŠŠŠŠZZZZggggZZZZzzzzggggÈÈÈÈBBBBRRRR6666,,,,7777,,,,CCCCììììÂÂÂÂHHHHƒƒƒƒ@@@@****ìììì????

(a) It is disappeared tÃ7MCì (b) It is refracted tgelƒYCì

(c) It is absorbed t_.[ƒYCì (d) It is reflected tg$¨Ò5½ï GEGHƒYCì

6. How is the angle of incidence related to the angle of reflection?

ÐÐÐÐmmmmùùùùgggg‚‚‚‚rrrrìììì???? gggg
$$$$̈¨̈̈ÒÒÒÒ5555½½½½jjjjèèèè
GGGGEEEEGGGGIIIIEEEEÆÆÆÆZZZZyyyy ZZZZ$$$$kkkk5555åååå

EEEE
GGGG
HHHH÷÷÷÷ZZZZyyyyÔÔÔÔ

(a) It is greater t(,Zƒ@*ì (b) It is smaller tgN*ì

(c) It is same tZq-6ƒ@*ì (d) None of these Ãð7

7. Which of the following describes the image of the body formed by the

plane mirror? ™™™™%%%%ggggÐÐÐÐ““““WWWWzzzzZZZZààààŸŸŸŸÅÅÅÅ¦¦¦¦kkkk,,,,ÃÃÃÃÃÃÃÃyyyyÒÒÒÒyyyy™™™™@@@@****ìììì????

(a) It will be upside down

tZyƒYñÏ

(b) It will be in front of the mirror

t%gÆ‚tƒÏ

(c) It will be large than the boy

t±ÆÐ(,~ƒYñÏ

(d) It will be horizontally reversed left to

right tZ|îg6,!*NÐŠZNZ«YñÏ

Q.No.2. Write the short answers. (2 <<<< 6 = 12) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX

(i)  What is the dispersion of white light? What is the cause of such dispersion?

CgzÝÅe4×Hì?Z+e4×ÅzzHì?

(ii) Name the process which is involved in the formation of a rainbow. Which

two conditions are necessary for the formation of rainbow?

                ¸µ�ÛbÆ“W~÷áï¿»**xKX̧µ�Ûb“WÆaŠz¢zg~q—ÃyÏ÷?

(iii)  Describe applications and uses of spherical mirrors in daily life.

gzi'çO{i0+Ï~Ép%gÆZEÑ]KX

(iv) Given examples of refraction in daily life. gzi'çO{i0+Ï~ge½ÅVBŠ,X
(v) Name three types of mirrors about which you have studied, and state the

characteristics of the image formed in each one of them.

 Z,'ç LgÅ&ZlxÆ**xKXÆ0W\7,|`ƒVZzgZyÅCÙZq-~“WzZà¦k,ÅS:]KX

(vi) State the laws of reflection. Æ̧Z2Òy™,X mË×nÓ�à g
Q.No.3. How will you use two identical prisms so that a narrow beam of white

light incident on one prism emerges out of the second prism as white light?(6)

WWWW\\\\ŠŠŠŠzzzzZZZZqqqq----‰‰‰‰6666,,,,iiii''''××××ÃÃÃÃùùùùZZZZEEEEwwww™™™™,,,,ÐÐÐÐāāāāCCCCggggzzzzÝÝÝÝÅÅÅÅ....zzzzÓÓÓÓZZZZqqqq----6666,,,,iiiixxxx6666,,,,7777,,,,}}}}ŠŠŠŠzzzzuuuu}}}}6666,,,,iiiixxxx6666,,,,ggggzzzzÝÝÝÝÆÆÆÆ

YYYYññññ???? îîîîgggg6666,,,,¦¦¦¦ƒƒƒƒ
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